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(ii)

t. qs-qr€sa ttllFr{t

(a) 1 €lTtlfu+2

(b) I N/m2

(c) 1N/mm2

(d) 1N/cm2

2. iq <n sr rrFr *dr t
(a) EIIatEl-tq <rq + +A * qrq * wrEt

(b) EIkIIGRUI eils t sq{ * qrr+r

(c) el-dr{tut qrq +'flq{

(d) Bq(tffi{tqttftT

1. 1 Pascal is equal to

(a) I dyne/cm2

(b) 1N/m2

(c) 1N/mm2

(d) 1N/cm2

2. Gauge pressure is equal to

(a) Pressure below atmospheric

pressure

O) Pressure above atmospheric

pressure

(c) Atunosphericpressure

(d) None of these

(l) P.T.O.
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3. il{n it furd ffi fvg w {-fr frHnqf t
<re +t **cn qcH_rlfr t, we

(a) rreq{urrtrad t

(b) rce qdur rfra e ers*wd t

(c) ma +t vqFrdr Eq a iPIt itfd{

fund r

(d) am +t Triit +frq {TiqT rrfr a r} r

4. qrq-qifra{ firqfukn si qtqt ii orq

srmr t 
'

(a) fipnrreiti-q<ts

(b) qt ilrd +*a qq dil{

(c) rlfdqn irftt trT qlaq qrq

(d) {f,S gi'*q EET qrq

5. qro-qr'ft qtqqrft rnr crt rlq qrq {ftd'

3iil{h 6i-dr t
( **)

(a) h=.r[ --_]

(w\
(b) ,:,[d-,,J

(c) h: x(w. - w*)

(d) h: x(w* - *,n)

crd.r:crt+dffiii 3ifr{

w* : Ht 51 fqfrrer qn

w* : vFft +r fr|ng rm

Q) 2024

3. The pressure intensity at a point in a

fluid is the same in all directions

when

(a) the fluid is frictionless

(b) the fluid is frictionless and

incomPressible

(c) the fluid has zero viscositY and

is at rest

(d) there is no relative motion

between the laYers of fluid.

4- A peizometer is used to measure the

(a) gauge pressure in static mass of
liquid

O) pressure difference between two

fluid

(c) dynamic Pressure of moving

fluid

(d) pressure of flowing gas

5. The difference of Pressure head h

measured bY a mercuq/-water

manometer is given as

( **)
(a) h=xl I -- II w*/

(w\
(b) n:r{-*_ - ,,J

(c) h:;r(w* - w*)

(d) h=x(w,r-wrn)

.r: difference in mercurY level

w-: sPecific weight of mercury

w* = sPecific weight of water
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6. 75 crn qlt + 5e1 $ qtltr{ qq 6r qr+

gsq +ti;qrtffid'ft r

(a) 1000 cm

(b) 1040 cm

(c) 1060 cm

(d) 1020 cm

\risskrlEr{q ErE 6Rrq{+dr t
(a) 1.0135 N/m2

O) 760 mm qn-*1 fu
(c) 10.3 mcr$+iff
(d) sq+n it t s+{ qt

{rn?ft {flq-{q FTqkfuiT * +ire{ur qr

eflqrfin t 
'

(a) raTrTH

O) {*'r
(c) sqt

(d) EtaT

\A ^ P Y2
q{-;flFit fFflEE{ut ** Tg* y : constant

*.r*o.rq+1{6r*t

(a) N

(b) N - m/kg

(c) N - m/sec

N-m(d) N

7.

8.

9.

(3)

The height

corresponding

equivalent of
column is

(a) 1000 cm

(b) 1040 cm

(c) 1060 cm

(d) 1020 cm

of water

toa
75 cm of

2024

column

pressure

mercury

7. 1 atmospheric pressure is equal to

(a) 1.0135 N/m2

(b) 760 mm of mercury

(c) 10.3 m of water height

(d) Any of the above

Bernouli's equation refers

conseruation of

(a) mass

(b) momentum

(c) energy

(d) force

8.

9. Each term of Bemouli's equation

Py2
;. ,g+ y: constant has unit of

(a) N

(b) N - m/kg

(c) N - m/sec

N-m(d) N

P.T.O.
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10. nmftrt qrqr qtdr t
(a) n-rs +1wFrf,T

(b) nftIs.t q;r€

(c) nra +t FIr6 ({

(d) rm +t u-qt

u. EFrdT dr{srtt
S(a) N- rm-

m(b) N- ,,
sec'

(c) N-m-sec2

m(d) N- ,sec-

12. rrFFTr;r it qk *'qrq ils +t {qFraT

(a) qrfrt 
r

(b) qafi t r

(c) s{qfiHfu dfr t t

(d) qd,d q-f,frtfirtqc$t 
r

13. orififw{ 6T fTwrur

Eldrt

(a) 0.82 + 0.8s

(b) 0.62 t 0.6s

(c) 0.e2 t 0.9s

(d) r t r.s

wi+.

(4) 2024

A rotameter is used to measure

(a) viscosity of fluid

O) density of fluid

(c) flow rate of fluid

(d) energy of fluid

Unit of viscosity is

S(a) N --m-

m(b) f,l - --;sec'

(c) N-m -sec2

m(d) |rl - "sec'

With the increase in temperature the

viscosity of gas

(a) lncreases

(b) Decreases

(c) No change

(d) Initially increases then decreases

Value of coefficient of discharge for

orifice is between

(a) 0.82 to 0.85

O) 0.62 to 0.65

(c) 0.92 to 0.95

(d) I to 1.5

10.

11.

12.

13.



CH2O7

14. ffie=r$qrq-et

(a) Tftsq Etq

(b) rdk+we
(c) Si{<tq
(d) rye eitn

ls. qrrg{flitt
(a) vJArlfuqtYqrTdr (r)

(b) ,rfm vqr+ar (pt

(c) E{€
(d) qrd

16. qfr6{q r = p ** * vrffi *.{i edt'oy
nre +i 66e t
(a) elrsfuorre

(b) f i nco

(c) qdfir++ cro

(d) q*qace

t7. Yqr+dI t+i{Ertr t
sfddmqffirw(a)

o)
(c)

(d)

qET ET *TqT
q-d-{qfffd qMdqtrr
EI;ld q q|G[ rR

18. ffi gflsr qr{q t $qr;rff rqa *'ftru
srftffiTq ttr aqr ofud Arr sr sf,Tila

El-dr t
(a) 3

(b) 3t2

(c) 3 -2
(d) 2

(s) 2024

A Pitot tube measures

(a) Dynamic pressure

(b) Static pressure

(c) Total pressure

(d) Difference in pressure

Poise is the unit of

(a) Kinematic viscosity (v)

O) Dynamic viscosity (P)

(c) Density

(d) Pressure

du
Fluid which obey the relation t : P a,
is called

(a) Rea[ fluid

(b) Perfect fluid

(c) Newtonian fluid

(d) Compressible fluid

Viscosity depends on

(a) Stress and strain

(b) Ptessure and velocity

(c) Shear stress and rate ofstrain

(d) Density and pressure

18. For viscous flow through a circular

pipe the ratio of max. velocitY to

average velocitY is

(a) 3

(b) 3t2

(c) 3 -2
(d) 2

14,

15.

16.

17.

P.T.O.
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19. ffi qrEq t erqr+q; qrs qgi *. mnq

Eh qr$ Yft{ EIfr +e t
(a) vi -vi
(b) (vr - v2)2t2s

(c) (vr + Y2)2t2g

(d) Y,-Yrl2g

qrqq it ErEr orTErkr fqq *,nur ri dar t ,

(a) trre fi**e * mnot

(b) cr Erq * +.nor qdq +Eei t
(c) srqr{s'E[(;6t.{(t$,,r+t

(d) qrEq of trilt qR+ t

T{t€-s {sr srrFt
AP(a) &
Y2lo(b) T
Vdo(c);

V
(d)

\go

qs qr+r il enr i + cm +1 qt q{ d{
qfit{iT 2o Pa t r sprt rTr{q iil atrg

2o cm Ei, ni qrqq +t *qR qr qdc
qfu{f, Et n

(a) 50 Pa

(b) 27.5 Pa

(c) 8 Pa

(d) 100 Pa

21.

22.

(6) 2024

to sudden19. Loss of head due

enlargement in a piPe is

(a) v? -vl
(b) (vr - v)zi2s

(c) (Vr + vz)zt\g

(d) Yr-YrlZg

Water hammer in pipe is due to

(u) Leakage of fluid

(b) Bursting of pipe due to high

pressure

(c) Suddencloserofvalve

(d) Shiking the pipe by hammer

Formula for Reynolds number is

AP(a) &
v2loo)l*
Vdo(c) T
v

(d)
\ga

For a 20 qn dia. pipe, shear stress of

4 cm from oris of pipe is 20 Pa then

shear sffess of the wall of pipe will be

(a) 50 Pa

(b) 27.5 Pa

(c) 8 Pa

(d) 100 Pa

20.

21.

22.
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2i. rsFr+ rrq 6t ***ssqqFr +dr t
(a) sd +rr qrEr d r

(b) 6 Pssf4qmur +1 silEwof,r Ei t

(c) qti wq Yfr{ +1 enqqqo-dr d r

(d) mc Yft{ q{aIKT ?RFI rrt om a} r

24. srfdldq qq 6t *ofr mq d Hrni t
(a) vft{ qemr t r

(b) i'r q{f,r t r

(c) fT{s{ur qonr t r

(d) vrkqrdt t

25. rgrrn+ qq if 6{r friq mr mr{ t
(a) qq +t *q +t qOrn

(b) 'rq +t Effin {6m

(c) E{uflq {ft{' 6i o.rt oq 6r+r

(d) nqr66t {flqr

26. olfrIm rqFrdr qrd ru.1 +i qtq +.{i +
frqqt{ tt qqqrqil *i t t
(t) q;qq

(b) z{qF{ qq

(c) Frd6qq

(d) srq+*q qq

(7) 2024

Reciprocating pump are best suited

(a) where speed is much high

(b) where constant discharge is

required

(c) where high head is required

(d) to pump large liquid at smaller

head

Series operation of a centrifugal

pump result in

(a) High head

(b) [,ow speed

(c) High discharge

(d) Low power

25. Air vessel in reciprocating pump is

used to

(a) lncrease the speed of PumP

(b) lncrease the efficiencY of PumP

(c) reduce accelerating head to

minimum

(d) increase the flow

26. The pump used for PumPing high

viscosity fluid is

(a) Screw pump

(b) Turbine pump

(c) Plunger pump

(d) Cenhitugal pumP

23.

24.

P.T.O.
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27. srqfurqstdfrt

(u) rsrrn+ qq i

(b) srfqHq qq i[

(c) frrrrr qq ii

(d) {*fr ii

zg. {gd Ec Erq q<R qFri + frq frq
i+frctqilq kqrwor t
(a) sffiq <rqqrfr

(b) qlr+4a{

(c) {ItlRUI (lEqrfr

(d) qr{"1Erdqrfi

zg. u-{d ffiq il{qrft +} eer t+-q qnr

twq
(a) qrq 3iilt erftrod r

O) ffe siil{Hq d r

(c) {qFrflI Gnqr d r

(d) wFtaT +q d r

qwcrfr it qrqrqaqt q{r gpt { ft t,

nlt*.

(a) qe +1 {-dR t fur*-dr +tt t t

(b) q-{6q qrErt r

(c) qlurErqmct r

(d) yBFTrEr+qt r

(8) 2024

Priming is necessary in

(a) ReciprocatingPumP

(b) Centritugal PumP

(c) Gear pumP

(d) All the above

For measuring verY small Pressure

difference following manometer is

used

(a) Differentialrnanometer

O) Piezometer

(") Simple manometer

(d) Micro manometer

U-tube differential manometer is

inverted when

(a) pressure differeirce is high

(b) pressure difference is low

(c) fluid have high viscositY

(d) fluid have low viscositY

Mercury is generallY used in

manometer because

(a) It does not stick to walls of tube.

(b) It has high density.

(c) Its vapour pressure is loq'.

(d) Its surface tension is low

27.

28.

29.

30.
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(ii)

(iv)

wqwr afudt, PiryCC ffi qiq*.rrrE?fird I

Question No. I is compulsory, answer any five questions from the remaining'

sde.ew # ur# ,flrit 41 ifiqer w ** ad o?fuq r

Solve all parts of a question consecutively together'

sdssw mi TA ?sCrnry #fqq r

Start each question on afresh page.

Eiq?, rrqr.ir, C amraii dt Md it dfiq? aqqrr dl qq { 1

only Englishversion is valid in case of dffirence in both the languages.

1. lqI{+.{q+qrlsmftfug'
Write brief answers of the following :

(i) wFrilr +t ,rrsar +t 1$qgr{+ r

Explain importance of viscositY.

(ii) atgqrsdq EFr 1.013 qrst qrt*'ire {frd' ii qm dH r

Represent the atmospheric pressure 1.013 bar in terms of head of mercury.

(iii) srqfir+* rrdr6 qd qfimT q-{6 s} qtrsri r

Explain steady flow and unsteady flow.

(iv) eztwrtqr€ E6T iFtt +r{ t t
What is the function ofbutterfly valve ?

(v) 3ffi qq it grqfhT t eilc;sr sr*d t t
What do you understand by priming in centrifugal pumps ?

(e)

(2x5)

P.T.O.

2024
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2. (i)

3. (i)

4. (i)

Describe with
manometer.

(ii)

(10) 2024

1rs'(q qlqqT'fr 61 3qfrq 3.9 efiff+ rJ6-€ qrA Ft EFt Elct EId 5{i # foq i+q T qr

t I <lqqrqt +i qqt wr qgqxrg-d { q-d t nqr qrfi wr I|EI t g$ t. r q.{q 
3r3tfr

qlqT Tqr + qi-fr'ra t 16o firqT. +i t r ddt 5ererr ii qn- + ffiit ii tso fir* sT

erm t d qrEq ii nq +'qrq iFT rII;t kN/m2 ri wa +1ki r

A simple manometer is used to measure the pressure of liquid of specific gravity

0.9. Its right limb is open to amosphere and the left limb is connected to the

pipe. Thelentre of pipe is 100 mm below the mercury level in right limb. The

tiff.."rr"" of mercury ievel in both limb is 150 mm. Find the pressure of liquid in

pipe in kN/m2.

rq +t ftfrrd qrqqrfi t qlE qrqi +1BFr *l {rP{d 6ruh +tH r

neat sketch to measure the pressure of liquid by inclined tube
(6+6)

(ii)

ffiftzr wr t I F{w{q fl( E{+ fu eau-+,,gu-< friH I Cn qlro

What is Venturimetsr ? Derive an expression for finding the discharge. (with

neat sketch)

frq +t {wTr{i :

Explain the following :

(a) qcH W oRFTH Fnd
Uniform and Non-uniform flow

(b) wfuqfuqerqqr
Laminar and Tuftulant flow (8+4)

qrs 60 m q,1r{r 15 crn atRI 
"EI cr{q qE5qf, st z-*t t elftrq 3ffigx1 ii 5r t t trc+r

Ewr lwr ql15o-6f, ii frRft( €tdr t r ffi ii GIET Frr si i,Ert 2.6 m t r qk
f = 0.01 t, ai sq< EIFrqi +t qr;r+-{Tfi t ftwrq ara +1H r

A 60 m long and 15 cm diameter pipe is horizontally attached to a water tank. Its

other end discharged into atmosphere. The head of water in a tank is 2.6 m. If
f :0.01, find the discharge considering all losses.

frqsi{Fr$rr{q:
Explain the following :

(a) rq +t qrrq 116{r€

Hydraulic Mean depth

(b) r&q aro

Hydraulic gradient

(c) *'rTqkrnq

(ii )

Wetted perimeter (6+6)
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. s. (i) Erffi $I rq sfud +s 6t s,ffi qt{d {trgr{+ t

Explain working of Brahmah's hydraulic press with neat sketch.

(ii) q-{ tnr YqFrff qr t+qq {Erflr{+ l {qFril {oli6, *.r 6riT \,ti q,+=T qftrqm i[ qq*1

Prfird +1Hi r

Explain Newton's law of viscosity. Establish relation between co-efficient of
viscosity, velocity gradient and shear stress. (6+6)

6. s6i fir* +1 v6+rn t qgqrq qq qft EFrrErc'qri sdnurr* {€Ei | {s-6t iln ffi qEu
qq+t{€iqw{*labi r

Explain the construction and working of a reciprocating pump with help of a neat

sketch. Write the formula for discharge from single acting and double acting
reciprocating pumps- (12)

7. (i) sT,ffi qq +'srFTf,q{ur r# s} qryg6{ I

Explain characteristic curves of a centrifugal pump.

(ii) qs 50 firffiirqru61sTrfifu.qq{rTrfr6ryftd t2 trc(t rqrskofrwtwqdqz-
{r+{r q{ +d sr qrffifuoiq rn +1fut r rJ'rtfi co : 0.6 F cu : 0.98.

The head of water over an orifice of diameter 50 mm is 12 m. Find the actual
discharge and actual velocity of jet at vena-contracta. Take Co = 0.6 and

Cr:0.98. (6+6)

8. frq11.{{ftTqffikfiqt:
Write short notes on following :

(i) fefirflr+n*er€
Various types of valves.

(ii) +drlr qEi qtr+-$ilq

Cavitation and its effect

(iii) frq.*.frs.qE
N.P.S.H. (4x3)
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